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B1ft 1.1b
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Heights
(4 marks)
Notes

1%tB1 for a box with 2 whiskers (one at each end)
with median at 1.85 and lower quartile at 1.81
do not allow median = upper quartile [=1.85]

2" B1ft for 1.92 plotted as the upper quartile (must be right hand end of box)
or for plotting an IQR = 0.11, i.e. their upper quartile at “1.81” + 0.11

3YB1 for lower whisker ending at 1.72 must be attached to whisker
4" B1ft for upper whisker ending 2.0 must be attached to whisker

or for plotting a range of 0.28 i.e. their upper whisker ending at “1.72” + 0.28
for ft condone maximum and/or minimum plotted as outliers by * or x




